PROFESSIONAL SM 1433CES PLUS A - 149625
P'\% S Ref.No. Description P,ﬁ : Ref.No. Description
1 146344 Gearbox HD 40 131385 Stator set
2 361366 Screw K 4X25 TORX 20 1il12.8ep.2017-40 148554  Stator set
3 330335 O-ring 16X2B 1ill 11.0ec.2016-40 159666 Stator set HD
4 17795 Lock button 41 149635 Body L50-55
5 330704 O-ring 5x1,5NBR 70 42159966 Button
6 115165 Spring 43 151413 Spring
7159665 Nut M10x1 fil 22.Jan.2013-44 131214  Pressure spring 0,5xE4x25
8 159657 Spindle gear 44 159965 Trigger
9 933756 Bearing HKO709 45 102100 Switch PS8
12 156478 Rubber bush 1il 29.0un.2011-45 153548 Switch APB-2114 Defond
13 330945 Bearing 6000 2RSL P63 LDS18SpA 46 153056 Brush
14 159990 Profile washer set 47 153057 Brush with a switch
16 157311 Bearing cover fill16.Mar2014-48 129082 Brush holder set
17 361495 Screw G2-M4x12 MK 48 142187 Brush holder set
18 1562579 Fan 49 254364 Spiral spring
1ll08.Jan.2013-19 330582 Bearing 6262ZP6E LDS18 SKF 50 361360 Screw K 4X9.5TORX 20
19 331509 Bearing 626 2RSL 51 256500 Cordclamp
20 146428 Armature set HD 52 152759 Cord protector
21 129087 Elastic sleeve 53 159967 Cord with a plug RAL 3020
22 117798 Spacer washer 54 148395 Electronic block
23 117799 Spacer washer 56 149637 Casing handle set
24 330732 Circlip A35-1D 57 361328 Screw K4x18 TORX 20
fill 19Feb.2014-25 113091 Spacer washer 58 361367 Screw K 4X37/25TORX 20
1l 11.Mar.2014-26 330718 Bearing 6300-2RS il 19.Jan.2016-59 116757 Rubber bush
26 331665 Bearing 6300 - 2RSL 59 116757 Rubberbush
1l 19.Feb.2014-27 153586 Felt 30x19.2x6 60 149631 Cover
28 162772 Spindle 61 159963 Tampon
29 330336 O-ring 50X2B 62 159964 Elastic ring
1l 19.Feb.2014-30 142268 Bearing bed HD 63 147001 Diffuser
30 147617 Bearing bed 64 116757 Rubber bush
31 361131 Screw H2-M4x12 1il 30.Apr2013-64 173726 Handle AVR M8/L10
1l 17Feb.2014-37 142271 Bearing bed set HD 1ill 30.Aug.2017-65 146774 Labyrinth Washer
37 147618 Bearing bed set HD 65 147939 Labyrinth Washer
38 157299 Diffuser L 50-55 74 146582 Handle AVR M8/L10
39 361430 Screw 3.9x69

149925

SPARKY POWER TOOLS e 2018

149926

21



	Button 5: 
	Page 212: 



